
 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

ԳԳԱ = ∑
𝐶𝑖 ∗ 𝑉𝑖

1000

𝑘

𝑖

 ,

 



 

𝑽Գ = 𝑽ս + ∆𝑽Գ

 

ԳՓՕԱ =
(VԳ − ∆VԳՓ) ∗ ՍՏ +  VԳ ∗ ՍO

1000
 ,

 

 

 

 

 

 



 

 

 

 

 



 

 

 

 



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 



 

 



 

 

 

ՓԳԳ = ∑ ((Մ𝑡
Հ − Մ𝑡

Փ) +
(Ջ𝑡

Փ − Ջ𝑡
Հ) ∗ 𝐶𝑡

Փ ∗ 𝑉Գ𝑡
Փ

Ջ𝑡
Փ ∗ 1000

) ∗ (1 +
ՏԳ

100%
) ,

𝑚1

𝑡=1



 

 

Մ𝑡
Հ = ∑

(𝑉ս𝑡𝑖
Հ ∗ ՍՎ𝑡𝑖)

1000

𝑛

𝑖=1

− ԳԳԱ𝑡
Հ −

(𝑉Գ𝑡
Հ − ∆𝑉ԳՓ𝑡

Հ ) ∗ ՍՏ𝑡

1000
 ,



 

 

Մ𝑡
Փ = ∑

(𝑉ս𝑡𝑖
Փ ∗ ՍՎ𝑡𝑖)

1000
−

(𝑉ս𝑡
Փ + ՍԿ𝑡

Փ) ∗ 100%

100% − ԿՀ

∗
𝐶𝑡

1000

𝑛

𝑖=1

−
(𝑉ս𝑡

Փ + ՍԿ𝑡
Փ) ∗ (100% − ԿՓՀ) − ՍԿՓ𝑡

Փ ∗ (100% − ԿՀ)

100% − ԿՀ

∗
ՍՏ𝑡

1000
 ,



 

 

ՓԳՏ = ∑
(Փ𝑡

Հ − Փ𝑡
Փ) ∗ ՍՏ𝑡

1000
∗ (1 +

ՏՏ

100%
) ,

𝑚2

𝑡=1

 

 

 



 

 

 

 

 

 

 



 

 

 

 

 

 

 

𝐾Հ𝑖 =
𝑉Օ𝑖

∑ 𝑉Օ𝑖
𝑛
𝑖

 ,



 

 

𝐾Փ𝑖 =
𝑉Տ𝑖

∑ 𝑉Տ𝑖
𝑛
𝑖

 ,

 

𝐾Ս𝑖 =
𝛼𝑖 ∗ ԲՔ𝑖

∑ 𝛼𝑖 ∗ ԲՔ𝑖
𝑛
𝑖

 ,

 

 

 

 



 

 

 

ՍՏ =
ԱՀՏ

𝑉 − ∆𝑉Փ
∗ 1000 ,

 

ՍԲ =
ԱՀԲ − ԳԳԱ − ԳՓՕԱ − ԱԴՊ − ՓԳԳ − ԾՍ

Գ

𝑉ս
∗ 1000 ,

 

ՍՕ =
ԱՀՕ

𝑉
∗ 1000 ։



 

 

ՍՎ𝑖 =
ԾՀ𝑖 + ԾՓ𝑖 + ԾՍ𝑖

𝑉ս𝑖
∗ 1000 ,

 

∑
ՍՎ𝑖 ∗ 𝑉ս𝑖

1000

𝑛

𝑖

= ԱՀԲ ։

 

 



 


